
Calendar Answers

1. Draw a circle 
2. 2 x 8 = 16, 2 x 4 = 8

True3. 

An apple is heavier than a 
paperclip 

4. 

5. 3 + 7 = 10

6 /  7 . 400 seats 

8 . 18

9 . 6

10 . 3 x 5 = 15p

11 . 3 apples each 

18. Draw a square

19 . The opposite of adding is subtracting/ taking away 

20 . Number line: 1, 2, 3, 4, 5, 6, 7, 8, 9, 10, 11, 12, 13, 14, 15, 16, 17, 18, 19, 20

21 . 1p, 2p, 5p, 10p, 20p, 50p, £1, £2

22. 9 pencils total 

23. Draw a triangle 

24. 800, 600

25. 30p

26 . 0, 2, 4, 6, 8, 10, 12, 14, 16, 18, 20

13 . This means to divide, or share 
equally 

14. A car is longer than a pencil

12. 13

29. Odd numbers end in 1, 3, 5, 7 or 
9, give one example 

30. 6 + 7 = 13

28. 3 x 5 = 15, 5 x 5 = 25

27. 9 – 8 = 1

15 . 2

16. 5, 10, 15, 20, 25, 30, 35, 40, 
45, 50

17. A hexagon is a six-sided shape 


